

BID BULLETIN 01

Date:10 April 2023Project Title:Supply and Delivery of Sports Supplies (VSU-GOODS-23-18)Location:VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

(1st Envelope) TECHNIC	AL COMPONENT ENVELOPE				
Legal Documents					
1	PhilGEPS Certificate of Registration (Platinum)				
Technical Documents					
2	Statement of All On-Going Government & Private Contracts				
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 342,600.00)				
Or					
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 342,600.00 and the largest of which should be at least PhP 171,300.00 .				
4	Bid Security				
5	Technical Specifications				
6	SCHEDULE of Requirements/Production and delivery schedule				
7	Manpower Requirements				
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies), if applicable				
9	Original Duly Signed Omnibus Sworn Statement				
Financial Documents					
10	The Supplier's Audited Financial Statements				
11	Net Financial Contracting Capacity (at least Php 1,370,400.00)				
	Or				
	Committed Line of Credit (at least Php 137,040.00)				
(2 nd Envelope) FINANCI	AL COMPONENT ENVELOPE				
12	Original of duly signed and accomplished Financial Bid Form				
13	Original of duly signed and accomplished Price Schedule(s)				



Please take note:

1. In the Technical Specifications, bidders must state either "Comply" or "Not Comply" against each of the individual parameters of the specifications per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).

2. Bidders are advised to use the latest GPPB forms for the following documents:

- a) Omnibus Sworn Statement
- b) Performance Securing Declaration (if applicable)
- c) Price Schedule for Goods Offered
- d) Bid Form
- e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government & Private	Statement of On-Going
	Contracts	Contracts
3.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	3200
4.	Statement of at least two (2) similar completed	Statement of Completed
	contracts	Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7.	SCHEDULE of Requirements/	Schedule of Requirements
8.	Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph before the deadline.

III. Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
5. A complete set of Bidding Documents may be acquired by interested Bidders on 30 March – 17 April 2023 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	A complete set of Bidding Documents may be acquired by interested Bidders on <i>30 March</i> – <i>17</i> <i>April 2023 until 1:30 PM</i> from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means. The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund 164 Account Number: <u>3572-1000-13</u> Then send the deposit slip to <u>jessamine.ecleo@vsu.edu.ph</u>

Section II. Instructions to Bidders	(Additional Instructions)
15. Sealing and Marking of Bids	 Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2. For filing purposes, the bidders are urged to use Brown envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

ltem No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	Aluminum Baseball Bat	рс	4	7,000.00	28,000.00
	End cap				
	Built from AZR aluminum alloy				
	Speed design				
	Length (in.): 32-inch handle is outfitted with an All-Sports grip				
	Type: Slow Pitch				
	Barrel diameter (in.):2 5/8"				
	Product Type: Slow Pitch				
	Bat Certification: Approved by ISF				
	Bat Material: Aluminum				
	Age Group: Adults'				
	Activity: Baseball				
	Multi-variable wall design				
	Tightened production tolerances				
	Patent pending Liquid-Gel anti-vibration knob				
	Micro-perforated soft-touch grip				
	Ring-free barrel construction				
	Ergonomically designed handle taper for each weight drop				
2	Aluminum Relay Baton for Track and Field	рс	10	600.00	6,000.00
	Multi Color, 12 inch length, Size: 30*3.8cm				
3	Archery Set	lot	1	240,000.00	240,000.00
	Accessories Includes:				
	1.) 5 units Recurve Limbs: SF Velocity Pro Limbs Carbon (ILF Compatible- should be compatible with SF Velocity Riser)				



				 	1
	Weight: 40 lbs, Length: Medium (68")				
	2.)3 pcs Recurve Strings, Length: 68"				
	3.) 5 sets String Brass, 5 pcs/set				
	4.) 7 pcs Recurve Arrow Rest, Right				
	Hand or Left Hand				
	5.) 3 pcs Recurve Sight				
	6.) 6 sets Recurve Carbon Stabilizer				
	7.) 8 pcs Finger Tab				
	Recurve Arrows:				
	1.) 1 set Carbon 900 Recurve Arrow				
	Shafts, for competition, 12 pcs/set				
	2.) 20 sets G nock, 10pcs/set				
	3.) 1 set Target Point size: 750-1400 (100 pcs/set)				
	4.) 3 sets Recurve Vanes, Green (50 pcs/set)				
	5.) 3 set Recurve Vanes, Yellow (50 pcs/set)				
	6.) 1 set Aluminum Recurve Arrow Shafts, for Competition (10 pcs/set)				
	7.) 6 pcs Recurve Bow Stand				
	8.) 2 pcs Recurve Stinger				
	9.) 1 set Fletching Jigs				
4	Armguard for Taekwondo	pair	8	1,700.00	13,600.00
-	Sizes (3 Large, 3 Medium, 2 XL)	- P 64	-	.,	
5	Arnis, Official Equipment Set	set	6	10,000.00	60,000.00
	3 Red and 3 Blue				23,000.00
	Includes: Head Gear, Body Armor, Upper				
	Arm Guards, Lower Arm Guards, Upper				
	Leg guard, Lower Leg Guard, Hand				
	Protector Gloves.				
	Size: (3 Large and 3 Medium)				
6	Badminton Rubber Grips	рс	20	80.00	1,600.00
	Anti-slip, absorb.				
	Amplified traction.				
	Perforated design.				
	Tapered starting end.				
7	Badminton Strings (BG65)	рс	10	450.00	4,500.00
•	Core: High Polymer Nylon Multifilament	~~			1,000.00
	Gauge: 0.7mm				
	Outer: Special Braided High Polymer				
0	Nylon Fiber		47	100.00	2 0 4 0 0 0
8	Badminton Towel Grips	рс	17	120.00	2,040.00
	Made of super sweat absorbent cotton and elastic.				
	Antisepsis, deodorization and anti-skid.				
	Size:65 X 2.6 X 0.7cm / 25.6 X 1.02 X				
	0.27 inch.				
9	Ball Sepak Takraw, Official Size	рс	3	1,000.00	3,000.00
	Material: Heavy Plastic; Color:				
	Brown/Yellow				



Size: 5 x 5 x 5 Inch 12 Holes and 20 cross points 10 Ball, Basketball, GG6x, size 6 pc 8 3,000. FIBA Approved premium composite leather pc 8 3,000. Signature patented 12-panel design. Nylon wound butyl bladder. 10 Offical size and weight. 0 10 10 Size: 6 10 12 12 12 Comes inflated directly from the factory. 10 10 10	00 24,000.00
10Ball, Basketball, GG6x, size 6pc83,000.FIBA Approved premium composite leatherImage: Signature patented 12-panel design.Image: Signature patented 12-panel design.Image: Signature patented 12-panel design.Nylon wound butyl bladder.Image: Signature patented.Image: Signature patented.Image: Signature patented.Offical size and weight.Image: Signature patented.Image: Signature patented.Image: Signature patented.Size: 6Image: Signature patented.Image: Signature patented.Image: Signature patented.	00 24,000.00
FIBA Approved premium composite leather Image: Signature patented 12-panel design. Signature patented 12-panel design. Image: Signature patented 12-panel design. Nylon wound butyl bladder. Image: Signature patented. Construction: Laminated. Image: Signature patented. Offical size and weight. Image: Size: 6	00 24,000.00
leather Image: Signature patented 12-panel design. Signature patented 12-panel design. Image: Signature patented 12-panel design. Nylon wound butyl bladder. Image: Signature patented 12-panel design. Construction: Laminated. Image: Signature patented 12-panel design. Offical size and weight. Image: Size: 6	
Nylon wound butyl bladder. Construction: Laminated. Offical size and weight. For indoor use only. Size: 6	
Construction: Laminated. Offical size and weight. For indoor use only. Size: 6	
Offical size and weight.	
For indoor use only. Size: 6	
For indoor use only. Size: 6	
Size: 6	
11Ball, Beach Volleyballpc43,700.	00 14,800.00
Official Size and Weight	,
FIVB Approved; Material: Super	
Composite Cover; Construction: Stitched	
Iconic 10-paneled design with	
contrasting colors	
High Water Resistance; Size: 5	
Size: 66-68cm	
Weight: 260-280g	
Material: Super Composite Cover with	
Recycle-Nylon	
Construction: Stitched	
12Ball, Volleyball, Official Sizepc43,500.	.00 14,000.00
Material: Soft Leather	
Construction: Laminated	
Dimpled microfiber material	
Blue and Yellow color pattern	
Genuine, Approved by FIVB	
Exclusive official FIVB game ball -	
Professional Model as seen in the	
world's top professional games	
Iconic 8 panel flower petal design with	
contrasting colors	
Double Dimple technology is used to minimize the air resistance and maximize	
the gripping power of the balls surface	
Original Microfiber + PU material co-	
developed by Mikasa and Kuraray to create	
the highest quality volleyball with Anti-sweat	
functionality-deleted13Baseball Ballpack4	00 33,360.00
12 pcs/pack	
Seam Construction: Raised	
Center COnstruction: wool&rubber cork	
core	
Cover Construction: Grade C/D Full	
Grain Leather	
Approved by IBF	



Baseball Catchers Helmet, BlackSize: (2-Large, 1- XL, 1-Medium)Approved by IBFBaseball/Softball Chest ProtectorSize: (3-Large, 2-Medium, 1-XL)Back: Dynamic Fit System 2.0Padding: Impact Absorbing FoamSleeves: Adult	pc pc	4 6	3,500.00	14,000.00
Approved by IBF Baseball/Softball Chest Protector Size: (3-Large, 2-Medium, 1-XL) Back: Dynamic Fit System 2.0 Padding: Impact Absorbing Foam	рс	6	3,500.00	
Baseball/Softball Chest Protector Size: (3-Large, 2-Medium, 1-XL) Back: Dynamic Fit System 2.0 Padding: Impact Absorbing Foam	рс	6	3,500.00	<u> </u>
Size: (<mark>3</mark> -Large, <mark>2</mark> -Medium, 1-XL) Back: Dynamic Fit System 2.0 Padding: Impact Absorbing Foam	pc	0	3,300.00	21,000.00
Back: Dynamic Fit System 2.0 Padding: Impact Absorbing Foam				21,000.00
Padding: Impact Absorbing Foam				
Sport: Baseball/softball				
Technology: Heat Exchange, Coolflo				
Venting				
Baseball/Softball Leg/Shin Guard	pair	6	3,500.00	21,000.00
Size: 3-Large, 3-Medium	•			
Back: Quick Adjustable Velcro Straps				
Fit: Intelligent Knee Positioning				
Padding: Adjustable Inner Knee and Shin Pads				
Removable Panel:				
	рс	5	2,500.00	12,500.00
-	•			
Durable plastic casing				
Light and easy to carry				
Suitable for home and competitions				
Silent, provide quiet atmosphere				
Basketball Ring Net	pair	5	600.00	3,000.00
Heavy Duty, Tri-color (Red, white, blue)				
Basketball ring net				
nylon multicolor				
heavy duty				
280g/pc				
12 loops				
7 raws of knots				
Basketball Scoreboard, LED Digital	рс	2	30,000.00	60,000.00
With wired controller				
Board Display: Time, Guest Score, Home Score, Period, Guest Foul, Home				
	Size: 3-Large, 3-Medium Back: Quick Adjustable Velcro Straps Fit: Intelligent Knee Positioning Technology Padding: Adjustable Inner Knee and Shin Pads Removable Panel: Adjustable/Removable Toe Flap Technology: Advanced Impact Management System (AIMS), Tri-Tech Padding, Pro Dri, SuperToe Usage: Leg Guards Approved by IBF Basketball Football Timer Stopwatch Brand new and high quality Analogue Clocks Aristo, counting precisely Durable plastic casing Light and easy to carry Suitable for home and competitions Silent, provide quiet atmosphere Basketball Ring Net Heavy Duty, Tri-color (Red, white, blue) Basketball ring net nylon multicolor heavy duty 280g/pc 12 loops 7 raws of knots Basketball Scoreboard, LED Digital With wired controller Board Display: Time, Guest Score,	Approved by IBFpairBaseball/Softball Leg/Shin GuardpairSize: 3-Large, 3-Mediumsize: 3-Large, 3-MediumBack: Quick Adjustable Velcro StrapsFit: Intelligent Knee Positioning TechnologyPadding: Adjustable Inner Knee and Shin PadsRemovable Panel:Adjustable/Removable Toe FlapTechnology: Advanced ImpactManagement System (AIMS), Tri-Tech Padding, Pro Dri, SuperToeUsage: Leg GuardsApproved by IBFBasketball Football Timer Stopwatch PcBrand new and high qualityAnalogue ClocksAristo, counting preciselyDurable plastic casing Light and easy to carrySuitable for home and competitionsSilent, provide quiet atmosphereBasketball Ring Net heavy Duty, Tri-color (Red, white, blue)Basketball ring net nylon multicolor heavy duty280g/pc12 loops7 raws of knotsBasketball Scoreboard, LED Digital Foul, Built in shotclock, Ball Possession	Approved by IBF minipage Baseball/Softball Leg/Shin Guard pair 6 Size: 3-Large, 3-Medium Back: Quick Adjustable Velcro Straps 5 Fit: Intelligent Knee Positioning Technology Fits Intelligent Knee Positioning 5 Padding: Adjustable Inner Knee and Shin Pads Fits Intelligent Knee Positioning 5 Removable Panel: Adjustable/Removable Toe Flap 5 Technology: Advanced Impact Management System (AIMS), Tri-Tech 5 Padding, Pro Dri, SuperToe Usage: Leg Guards 5 Approved by IBF 5 5 Basketball Football Timer Stopwatch pc 5 Brand new and high quality 2 2 Analogue Clocks 2 2 Aristo, counting precisely 2 2 Durable plastic casing 2 2 Light and easy to carry 5 3 Silent, provide quiet atmosphere 2 3 Basketball Ring Net pair 5 Heavy Duty, Tri-color (Red, white, blue) 3 3 Basketball ring net 2 2 nylon multicolor	Approved by IBFpair63,500.00Size: 3-Large, 3-Mediumpair63,500.00Size: 3-Large, 3-MediumBack: Quick Adjustable Velcro StrapsFit: Intelligent Knee Positioning TechnologyPadding: Adjustable Inner Knee and Shin PadsPadding: Adjustable Inner Knee and Shin PadsRemovable Panel: Adjustable/Removable Toe FlapTechnology: Advanced Impact Management System (AIMS), Tri-Tech Padding, Pro Dri, SuperToeBasketball Football Timer Stopwatch Brand new and high qualitypc52,500.00Brand new and high quality Analogue ClocksAristo, counting precisely </td



	<i>y</i>				
	button Style controller, 10m wire				
	Game Time: 6" 7-segment, Green				
	Team: 4" Dot-Matrix, Red, 8 chars				
	Score: 8" 7-segment, Red				
	Foul: 4" 7-segment, Amber				
	Period: LED Indicator, Red				
	Shot Clock: 6" 7-segment, Green				
	Possession: Pointer Arrow, Amber				
	Controller: Wireless Controller				
	Buzzer: Air Horn Buzzer				
	Accessories: OptionalExternal Shot Clock				
	Size (WxHxD): 84" (213cm) x 43" (109cm) x 2" (5cm)				
20	Body Armor for Karatedo, Men	рс	4	3,600.00	14,400.00
	Size: 2-Large, 1-Medium, 1-Small				
21	Body Armor for Karatedo, Women	рс	4	3,600.00	14,400.00
	Size: 2-Large; 1-Medium; 1-Small				
22	Centre Snorkel	рс	5	2,500.00	12,500.00
	Mouth Piece: silicone				
	Strap: Silicone				
	Adjustable head strap for comfort fit				
23	Cleat Shoes, Softball/Baseball	рс	15	4,000.00	60,000.00
20	Sizes: 7"(4pc), 8"(4pc), 9"(4pc), 10"(2pc), 11"(1pc)	P0	10	1,000.00	
24	Competition Jammers Professional Swimming Trunks	рс	8	2,400.00	19,200.00
	Size: (4 Medium, 4 Large)				
	Material: Polyester Spandex				
	FINA Approved				
25	Futsal Ball	рс	4	2,500.00	10,000.00
	With PU Leather and 32 panel design (white and blue)				,
	FIFA Inspected; Matte Surface Finish				
	Cover Material: PU Leather				
	Construction: Laminated; Butyl Bladder				
26	Goalkeeper Handgloves, Soccer/Futsal	pair	4	2,000.00	8,000.00
	2 Large; 2 Medium				
	Approved by FIFA				
	-Polyester				
	-Half-negative cut				
	-Palm: Soft Grip Pro 1% rubber foam				
	-Palm: Soft Grip Pro 1% rubber foam -Elastic bandage				
	-Elastic bandage				



			· · · · ·		
27	Hand Gloves for Karatedo (Red and Blue)	pair	4	2,400.00	9,600.00
	2 set-Red; 2 set- Blue				
28	Kalsomine Powder, 50kg	bag	8	1,500.00	12,000.00
29	Lawn Tennis Net, Official Size	рс	2	5,000.00	10,000.00
	Heavy Duty/PVC Headband with				
	corrosion resistant brass eyelets				
	Indoor and outdoor play				
	Reinforced double top netting for				
	increase durability				
	Approved by ITF				
30	Marking/Traffic Cones (Orange)	рс	20	200.00	4,000.00
	Height: 0.31m				
	Material: PVC				
	Accessory type: Training accessories				
31	Official Net for Futsal, White	pair	2	4,500.00	9,000.00
~ •	Hexagonal Nets -4mm	- P 011	-	.,	0,000.00
	made with high strength polypropylene				
	Dimensions : 2m x 3m x 1m x 1m				
32	Pitchers Plate, Softball/Baseball, White Hard Rubber, Official	рс	1	1,950.00	1,950.00
	Colour: White				
	Item weight: 8 pounds				
	Sport: Baseball				
	For use in baseball and softball				
	Solid white molded rubber				
	HEAVY DUTY				
	Includes 2 Removable Metal Spikes				
	Dimensions: 26.00 x 6.00 x 1.00 Inches				
	approved IBF				
33	Referee Whistle for Basketball	nc	10	650.00	6.500.00
55	*Tough polycarbonate mouthpiece with a	рс	10	030.00	0,300.00
	vertical reinforcing rib				
	*Standard Loudness (easy to blow)				
	*Strong immediate sound with thick and sharp high pitch				
	*Durable mouthpiece				
	-				
24	*4.10khz & 3.7kHz, 4 octaves Scoreboard for Badminton		2	1 000 00	2 000 00
34		рс	2	1,000.00	2,000.00
	Manual Flip Made of plastic both board and corde				
	Made of plastic, both board and cards are waterproof. Weight: 1.7lbs.				
	Storage Size: 15.7"x6.9"x1.5";				
	Scoreboard Size: 15.7"x8.2"x9.8"; Takes				
	up little space to store.				
	Score number from 0 to 31, period				
	number from 0 to 7.				
	Stainless steel flip hook on the top allows				
	score cards to swing all the way to the back of the scoreboard.				
	Dack UI LITE SCULEDUALU.				



35	Scoreboard for Table Tennis	рс	2	1,000.00	2,000.00
- 55	Manual Flip	μc	2	1,000.00	2,000.00
	Made of plastic, both board and cards				
	are waterproof. Weight: 1.7lbs.				
	Storage Size: 15.7"x6.9"x1.5";				
	Scoreboard Size: 15.7"x8.2"x9.8"; Takes				
	up little space to store.				
	Score number from 0 to 31, period				
	number from 0 to 7.				
	Stainless steel flip hook on the top allows				
	score cards to swing all the way to the				
	back of the scoreboard.				
36	Scoreboard for Volleyball	рс	2	1,000.00	2,000.00
	Manual Flip				
	can display from 00 to 99.				
37	Sepak Takraw Net, Official	50	2	1 500 00	2 000 00
31	Tournament Size	рс	2	1,500.00	3,000.00
	Dimensions : 6.1m x 0.7m. Mesh 70mm.				
	With PVC bands on the perimeter.				
	Mesh size: 70mm single mesh				
	Thread: TW (twisted)				
	Thread diameter: 1.5mm				
	Length: 6.1m				
	Height: 0.7m				
38	Shin and Foot Gloves for Karatedo	pair	4	3,000.00	12,000.00
	Color: Red	pan	•	0,000.00	12,000.00
	Size (1-XL, 2-Large, 1 Medium)				
	Shin and Foot Gloves for Karatedo				
39	(Blue)	pair	4	3,000.00	12,000.00
	Size: (1-XL, 2-Large, 1 Medium)				
40	Shuttlecock, 12 in 1	tube	18	1,650.00	29,700.00
	Power 400 Level: Middle available for			.,	
	populace; Material: Grade 3, 4 big				
	square duck feather				
	Genuine, Speed: 77(3)				
	Head Material: Two Layer natural cork				
	BWF Approved				
41	Silicon Swim Caps	рс	15	1,500.00	22,500.00
	Easy to get the cap on and off without			.,	,
	pulling your hair				
	Provides greater durability than Latex				
	caps				
	Logo detail-delete				
42	Soccer Ball	рс	5	3,500.00	17,500.00
	Official Size	· · ·			-
	Synthetic Leather Cover				
	Construction: Laminated				
	Genuine, Approved by FIFA				
	Number of Panels: 32				
	Surface Finish: Mat Finish				



	Cover Material: PU Leather				
	Construction: Laminated				
	Butyl Bladder				
	Size 5				
	Outdoor Use				
43	Soccer Bibs (Green)	рс	11	350.00	3,850.00
44	Soccer Bibs (Orange)	рс	11	350.00	3,850.00
45	Soccer Goal Net, Good Quality	pair	1	4,500.00	4,500.00
	Size: 24 x 8 ft				
	Material: Polypropylene + Cotton				
	Color: White				
	Top Quality Full Size Soccer Goal Net				
	This Soccer Net Is Lightweight, Ultra Durable And 100% Weatherproof				
	The Full Size Of The Soccer Net				
	Measures 24Ft(Width) X 8Ft (Height)				
	Official or Competition type				
46	Softball Catchers Helmet, Black	рс	4	3,500.00	14,000.00
	Level: Adult				
	Padding: Pro Dri Plus Fabric Covered				
	Sport: Softball				
	Technology: Cooflo Venting, Pro Dri Plus				
	Usage: Helmets				
47	Softball Gloves, Standard Size	set	1	36,750.00	36,750.00
	12 pcs/set (10 finger gloves, 1 catcher's mitt, 1 1st Base mitt)				
	finger gloves				
	Features the 3D Basket Web patter				
	This basket web is made by weaving				
	leather and fabric for a deeper pocket				
	Full grain leather shell and full grain leather laces				
	Features patented hand adjustments for a snug fit				
	Zero Shock Palm Pad reduces sting				
	Lower finger stalls and more narrow				
	hand opening for a small hand				
	Game ready feel requires minimal break in time				
	Zero Shock sting reduction palm pad				
	This glove is suitable for infield, outfield,				
	and pitcher				
	Right Handed Glove				
	Designed for Left-handed throwers				
	Size is 12.5"				
	Catcher's Mitt				
	Game-ready Right off the shelf, the Renegade Series™ delivers quality at an affordable price.				



	safe after use.				
	<i>4. A plastic dart case, keep your dart</i>				
	3. 3 pcs dart flights.				
	2. 6 pcs dart shafts.				
	barrels.				
	1. 3 pcs 90% tungsten steel tip dart				
	Includes:				
	Dart barrel weight is 24 g/26g. Whole dart weight is 26 g/28g.				
	-	301	5	1,000.00	7,000.00
50	Steel Tip Dart/Dart Pin	set	5	1,500.00	7,500.00
49	DELETE ITEM 49				
	Shell Material: Polycarbonate				
	Padding Material: Foam				
	Certification Mark: NCCSAE				
	Color: Blue				
	Type: Open Face				
	Sport/Activity: Baseball				
	Department: Unisex				
	Size: Adult				
48	Softball/Baseball Batting Helmet	рс	9	1,500.00	13,500.00
	size: 12.5"				
	Recommended for Adult or elite player				
	materials				
	back lining Smooth inner lining with breathable				
	High density cushioned palm and finger				
	Left Handed Gloves				
	RHT (Right hand thrower)				
	Oil-Tanned Leather				
	1st base mitt				
	Right Hand Throw				
	Left Handed Glove				
	Game-ready feel right off the shelf				
	finger pads for added comfort				
	quickness High-density cushioned palm and index				
	design for optimal balance and added				
	Durable and lightweight pro mesh back				
	durability and shape retention				
	minimal break-in time. Leather shell palm construction for				
	for this to be your gamer glove with				
	to-close glove right off the shelf, allowing				
	Sure Catch technology creates an easy-				
	opening for maximum control.				
	protection and a size-appropriate hand				
	play, the features start with a full leather shell, an aditional palm pad for impact				
	Ideal for youth, adult and recreational				



			1	ı –	
51	Studshoes, Soccer	рс	15	4,000.00	60,000.00
	Sizes: 7"(4pc), 8"(4pc), 9"(4pc), 10"(2pc), 11"(1pc)				
	Approved by FIFA				
52	Swimming Googles, Competition	рс	20	1,500.00	30,000.00
	Type, Adult Size			.,	,
	Gel-like materials, including super soft flexible seals				
	Comfortable and custom fit around the				
	eye				
	Lens: 100% polycarbonate, Strap: silicone				
	FINA approved				
53	Swimming Pool Competition Diving Starting Platform	unit	8	25,000.00	200,000.00
	304 Stainless grade and ABS				
	4 x 4 Square Tube				
	2mm Thickness				
	452mm rear height				
	5mm base thickness				
	FINA Approved				
	Blue/Customized				
	15kg in weight				
	520*520*650mm in size				
	With Free Installation				
54	Swimming Training Fin	рс	10	1,500.00	15,000.00
	Biofuse Technology				
	High comfort and good fit				
	Material: silicone				
	FINA approved				
55	Swimsuit, Fast Legs Still Black Open	nc	5	4,800.00	24,000.00
55	Back Competition Type	рс	5	4,000.00	24,000.00
	-Training suit will full upper leg coverage				
	and wide elastic shoulder straps				
56	conservative type Table Tennis	unit	1	10,000,00	10,000,00
50	Table Tennis Table Tennis with Wheels , Net, Post	unit	1	19,000.00	19,000.00
	Plus Racket				
	net and post included				
	material: medium density fire board (MDF)				
	square tube: 30x30mm				
	wheel size: 50mm				
	board thickness: 16mm				
	weight : 73kg				
	2 folds				
	packing: 1600x 1480x 110mm				
	size : 2740 x 1525x760mm				
	ITTF standard				
				•	



		I			
57	Table Tennis 729 Double Replacement	рс	10	500.00	5,000.00
-	Rubber Pad Black and Red	•			
58	Table Tennis Rubber	рс	8	750.00	6,000.00
	<mark>4</mark> pcs Black; <mark>4</mark> pcs Red				
	Pimple IN, Black Sponge				
	High-end offensive rubber used by				
	national team players.				
	HARDNESS 52.5				
	THICKNESS 2.0/MAX				
	APPROVAL 79-057				
	MADE IN Germany				
59	Taekwondo Head Gear with Chin	20	1	2 200 00	2 200 00
59	Guard (Blue)	рс	I	2,200.00	2,200.00
60	Taekwondo Head Gear with Chin	рс	1	2,200.00	2,200.00
	Guard (Red)		•		
61	Tennis Ball, Lawn Tennis	tube	10	500.00	5,000.00
	Genuine Tennis Ball				
	ITF Approved				
	Ball Speed: Medium Speed ball				
	3 pcs/Tube				
62	Badminton Racket, steel	рс	50	800.00	40,000.00
	1 pc Graphite Carbon Racket-delete				
63	IQ Hexa 17 200m Reel Tennis Strings	roll	2	3,700.00	7,400.00
	Ultra durable co-polyester monofilament				
	string.				
	Color: Any Color				
				TOTAL:	1,370,400.00

I Jemans

DILBERTO O. FERRAREN BAC Chairman